


PARTS LIST EFFECTIVE

 IMPORTANT: WHEN ORDERING, SPECIFY VOLTAGE OR TYPE GAS DESIRED             PAGE
  INCLUDE MODEL AND SERIAL NUMBER                OF

Some items are included for illustrative purposes only and in certain instances may not be available.

   Number
Per
Unit Description

    Part
   Number

  Key
  Number

MODEL

     3-31-06 RB

K5 2R-09-07-0075 1 KNOB WATER PAN
K6 SCREW 10-24 FOR WATER PAN KNOB
K9 SCREW 6-32 HEX HEAD
K22A 2P-09-07-0016 1 CAP HANDLE
K22B C9-04-FS-0053 1 PUMP HANDLE
K23 2J-05-07-0025 1 PILOT LIGHT (SPECIFY 120V OR 230V)
K23A 2S-05-07-0040 1 PILOT LIGHT RECTANGULAR
K26 2E-05-07-0011 1 ON-OFF SWITCH
K28 2P-10-07-0016 1 INNER SPRING (PUMP TO CASTING)
K28A 2P-10-07-0011 1 INNER SPRING (PUMP TO WATER PAN)
K31 2P-09-07-0074 1 BALL
K32 C9-30-FS-0008 1 BRASS HOUSING
K33 2A-10-FS-0001 1 PUMP CYLINDER
K33A C9-51-FS-0009 1 CYLINDER CAP AND SLEEVE
K34 2C-08-07-0101 1 COTTER PIN
K35 2P-10-07-0005 1 PUMP SPRING
K36 2A-10-07-0012 1 BRASS BUSHING
K37 C9-70-FS-0057 1 LARGE WELDED PUMP FRAME
K37A C9-04-FS-0056 1 SMALL PUMP FRAME BRACKET
K38 C9-52-FS-0008 1 PUMP PISTON RING ASSEMBLY LEVER

2A-10-07-0010 1 PUMP PLUNGER
2A-10-FS-0002 1 PISTON ROD
2C-08-07-0281 1 WASHER, #10 x 9/16” SEALING
2C-2566 1 NUT, 10-32 HEX STL NP

K38A 2A-10-07-0010 1 PISTON RING ONLY
K39 2R-Z5841 1 PUMP LEVER
K40 C9-40-FS-0049 1 PUMP NUT & SCREW
K42 2A-09-07-0009 4 FOOT
K43 4 RUBBER PLUG (not available)
K89 Z1-30-07-0002 1 DRAWER ASSEMBLY INCLUDES FRONT HANDLE
K90 1 HANDLE FOR FOOD PAN
K91 1 DRAWER FRONT
K92 1 DRAWER BACK
K93 2 HANDLE SCREW
K94 C9-04-FS-0033 1 FOOD SCREEN
K95 C9-04-FS-0034 1 FOOD PAN
K96 1 WATER PAN FRONT
K101 1 WATER LINE (PUMP TO STEAM CHAMBER)
K102 1 TOP STEAM PLATE #1
K103 1 TOP CASTING PLATE #2
K104 1 BOTTOM CASTING #4
K105 FLAT HEAD SCREW, 5/16-18
K106 C9-30-FS-0005 1 DRAWER FRAME
K109 TEFLON ROLLER
K111 1 STAINLESS TOP
K113 2N-05-FS-0002 1 ELEMENT
K114 1 BOTTOM STEAM PLATE #4
K120 1 TERMINAL BLOCK
K122 CAP FOR METAL LEG
K123 METAL LEG
K124 1 WATER LINE (PUMP TO WATER PAN)

1
1

 FOOD STEAMER MODEL CFS

  8D


